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QUESTION 1

Which statements are true about a prejoin projection? (Select three.)
A. A prejoin projection enforces primary and foreign key constraints.
B. A prejoin projection does not increase the storage footprint.

C. A prejoin projection slows down data loading.

D. A prejoin projection can process any type of join.

E. A prejoin projection adds no limitations to the tables in the join.

F. A prejoin projection improves query run time performance.

Correct Answer: ABE

QUESTION 2

What are the actions of the moveout task? (Select two.)

A. Moveout consolidates containers already on disk.

B. Moveout places data into all defined projections on the source table.
C. Moveout rewrites all ROS containers.

D. Moveout moves data from memory to disk.

E. Moveout writes data to memory.

F. Moveout purges deleted data already on disk.

Correct Answer: CD

Reference:https://my.vertica.com/docs/6.1.x/HTML/index.htm#2624.htm#014825

QUESTION 3

What are the differences between compression and encoding? (Select two.)

A. Compressed data can be queried prior to materializing the data.

B. Queries can be processed against compressed data, speeding query response time.
C. Both reduce the storage footprint.

D. Queries can be processed against encoded data, speeding query response time.

E. Encoding reduces only the storage footprint.
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Correct Answer: AD

QUESTION 4

What are the benefits of loading data directly into ROS? (Select three.)
A. The data is written to all projections on the source tables.

B. The data is sorted.

C. The data is unsorted.

D. The data is stored in only the super projection, which then populates other projections on the table in the
background.

E. The data is in column format. The data is written in row format.

Correct Answer. ABD

QUESTION 5

What is available on the Jobs chart in the Management Console? (Select two)
A. loading status and errors

B. resource pool usage

C. memory usage

D. recovery progress and errors

E. query performance

Correct Answer: AD
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